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But not for documents - X5 s Dan

Overview

X" (the X712R) said that X"9 (the Xin) maintains that one may only write a ©3 on a
77177 719°w D27, but not other documents, and 33 M maintains that even other
documents may be written on a 771777 912°w 127 according to X" (the Xin).

- Y299 Y91 1Y %Y P91 NY RYT N3992935 9199997 20903993 W
''"w1 explained why by m7vw IXWw even X" agrees that it cannot be written on a 727
n»712 715°w, since they are made for collection and perhaps they will not present

the W for collection until a long time has passed from when the “0w was written -
- S9N 1IN 19991901 29210 NN NDN 1Y INIY

And the »'"'y will forget the incident and we will depend on the "'y -
- Smp0a MY ©1YN BMN TIPPUYN AN 99989 NI

And the one who is in possession of the "vw will falsify what is written above the

signatures, and the signature of the witnesses will remain in place. This concludes
"D,

MmooIN is not satisfied with >"wAo:
- 10‘1”?5 999'w 9271 “nnenn Y DY TINDD MYVY 1Y YW NNDT PINT IVIT)

And his explanation is lacking, for why would we mistakenly depend on the
n''y in a document which is f»7I» 2120 -

modoIn offers his view why by mIvw IR it is different than va:

"'In our texts the X3 reads, X2 MV w2 93X (instead of X NTvVW2 2ax).

29K "7

3 1t is for instance a loan document, which the lender is holding to collect his debt, or it is a bill of sale which the
buyer holds to prove his ownership of a property.

* There may have been certain stipulations in the loan document which favor the borrower, which the lender (in
whose possession the W is) may alter to his benefit, and since the loan is due at a much later date, the 0>7v will
forget what was written in the original document.

> The »"y (even if we summons them) may not remember all the details of this note.

% This means we will authenticate the signatures of the 1"y by others who recognize their signature.

7 The lender will erase or change any stipulation which favors the borrower, and/or add others which are in his
favor.

¥ Therefore by n1uw TXw they must be written on a q™717> 212° Xow 727,

? This question (on >"wM) is only according to X"7 who maintains 073 2"y (so why would we rely on the 11"y),
however according to »n"7 who maintains *n73 1"y we should and will rely on the 1"y, so therefore it cannot be
written on a 97112 712°w 127, See R"wAnn.

"' We see that this is a a»7IL 951w 137, so we will be sure to verify the terms of the document (as well as to
authenticate the 0>7v77 n»°nn), before we allow it to go forward. See ‘Thinking it over’ # 1.
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= 9NIND 122N MIVYA 9WIN RIT NID 21NN HIHT DIVN RNYLT PNY 199299 AN
And it seems to the >''9 that the reason why mnvw X2 need to be on a RoW 727
77172 12 is because it is a 230577 nv1a that NWVR "RW are not "w> on a 727
n»7172 710w even if it is used immediately (so the o7y will certainly remember) -

- 1oya9 09 MYy NN )YaT
For we require that the 1vw should be fit to last for many days'? -

- Py9594 9945 005 NAUY 1Y I1TXANT N9APVY 1IN 5397 MIVY 1PN 9N 13N)® 39
And >''7 maintains that even n1ww TXY may be written on a 77177 912°w 127, for
>''5 follows his logic that the witnesses will certainly remember even up to ten
day later -

Moo anticipates a difficulty:'*
- 0539 0319 Y1y IWNY 2955 NN 72999 NN

And this which the X723 asks on °"7, ‘but it is written; 2°29 293 17207 J9”%’ so

how can "1 maintains that M VY IRW can be written on a 77177 212°w 127; however according to
"7 it is 0°27 21 17V, since 7707 13777, so what is the s'X713 question?!

mooIn responds; the reason the X713 asks this question -
- NON SNIY 597 INY INT NN MIVY SVIYNY NIPT PNYT RPHDT DIVN 199D

That is because the X2 assumed that this o0 is to exclude Ny ww (written on a
n»7177% 15°w 127), for if this were not so, why was this ?109 written -

" This is based on the P09 (in 7°,2% 7»7) cited in our X3, which states (referring to the qvw with which they
of context (it does not only mean that by placing it into a 017 °23 it will be 0°27 o' 1723, but rather) that a 70w must
be functional for a long period of time.

12 Writing a 771712 912°w 0w will not be usable 0227 o»Y, since the 07y will forget what was written on it.

135" agrees that it needs to be 2°27 @ 1723 19, however he maintains that it will be 2°27 2> 1719° since the 7y
will remember.

14 According to Moo the 027 o' 17V W% P00 teaches us, according to (X7K) K" that if the 7w will not be
remembered after a while (so there is a concern by a 77172 712°w VW), it is 7109 even if it is presented immediately.
However °"1 maintains that the witnesses will remember, so there is no problem of 2°27 2°»°; what then is the s'&723
question on °"3 from the 0°37 2 17V WN? P109; according to > a Y7L 12w ww will be 027 o'’ 1Y since
»7°27 127%. See following footnote # 15.

15 According to 0> 1"7 "W who writes, D»Pna2Y 7YY MR 927 11V RAPK, etc. 'O has no question, for the P10d
demands that it be something that endures, and 771772 712°% 727 does not endure. However according to '0n, the
requirement of 191 171¥° 1Y is that it should be remembered, therefore moon asks that according to " it will be
remembered even on a 971777 P12°W 127, See ORI R"WAR.

' The xmx assumed that the P09 of 037 o 1Ty’ N is teaching us a 7397 (even according to °"). It is self-
understood that there is a need that the 0°7v remember the 0w (by a 77172 219w 127). Therefore if we assume that
the 0>7y remember for a long time, a 7117 219w 0w should be w2, and if they cannot remember it is 7109, why the
need for a ?09; it is superfluous!. Presumably then this extra p105 teaches us that by mvw xw (which this 109 is
discussing) the 07y will not remember, not like >"9, therefore it cannot be written on a 77112 919w 127 .

2
TosfosInEnglish.com



528 7"7 'o1n 2,20 YA .7"'02

= VNN 290 DNYY 23un)

And the X3 answered that it was written as good advice only, but not to teach us
any rules, i.e. to exclude m1vWw KXW that they cannot be written on a 727177 912w 27.

mooin offers an alternate explanation of 737 ":
- 99594 05122 NAVUY 19T )INY 39 MNP PV RPYTT S99 W Ty

And additionally one can cay; that this which jams '3 stated that one
remembers up to ten days later; that was specifically regarding 1°us» -
- 5555 90YRY NI 99957 XY DININ 299 WOV MIOYA Yan

However regarding other nmuw in which there are many stipulations, people do
not remember, and those MWW are valid only immediately, but not up to ten days -

- 9PU5AY PR INYNY 19598 22039 0139 TINYY N 19¥a XY 0V 1099 RAYN)
And now (according to this interpretation of °"7), the X3 asks properly, ‘but
since we require that the 70w should be fit for many days’, so it should not be
Tw>, even if it is used immediately —

In summation; according to the first vwd the question of 0°27 2 1TMY° WnH 2°n> &M is that the
(extra) moo teaches us that the 2’7y will not remember (not like "7 who maintains they
remember even by M1vw Xw). The second vw» is that the 105 requires a MWW to be 1°» 172Y°
0’27, and since (even) °" admits that the 2°7v do not remember (S0 it iS not 2°27 2 ° 1TAYY); it
should be 705 even immediately. The s'®7%) answer in either vw» is the same that the P09 is not
teaching us any rules, it is just an 720 XY to place the 70w in a 0717 °93 so that 0°27 0> 17,

nooIN asks:
— P05y 199 NN NIY SN KY MIOWA YaN YINT TTYIN 5395 INN ON)

" The 7109 (according to ") is not teaching us that the 2>7v will not remember (as the X123 assumed in the question
[see footnote # 16]), but rather that since a 70w is needed for o°21 o, therefore it should be placed in a 0711 95 (see
footnote # 11); however even if it is written on a 771777 212°w 127 it will be w3, since the 2>7¥ remember.

'8 According to this 9", the second dispute between *"1 X" is not referencing their previous dispute regarding
o' 7wy (as mvon previously understood), but rather it is a separate np17nn regarding the view of (Xin) X" that one
can write on a 77117 712°w 127. See following footnote # 19.

' There are two disputes between "1 X" (regarding a 771712 212w 727), first regarding P, whether it is 7w3 only
an7x> (the view of X"1) or even 0 7wy K> (the view of >"7). The second dispute is by In7X? mvw ww (all
agree that o°»° WY XY it is 109 [as MO0 explains]), where X" says it is 7109 because of the 172> 1917 210157 N1
"3, and *"1 rules that In%R? by now KW it is w. See ‘Thinking it over’ # 2.

20 Since *" agrees that by mmuw TRw it is 9109 if it is not presented IN9XY, even without the 709 (for the 27y do not
remember), so seemingly the P09 is teaching us (as a 3" [see &"wann]) that even In9RY it is 2109, since it cannot
be 0°21 o’ 172Y°. The s'8n3 answer is the same as above (footnote # 17) that 5"np 7210 73V,

2L A oy YOy PRY 0w is (seemingly) at least as bad as a 9™7112 212w 727 (if not worse), for the Tww: Hya (the M)
can write another 0w [after the loan took place and the Mm% gave him (in front of the »"v) the original "W without
n"y], in whichever way he chooses, and since X" maintains that the n"¥ do not remember, they will validate this
false q0w.
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And if you will say; according to X''9 (the X7nX), who maintains that by Xw
MR the X"3 XIN is not Pwon to write them on a 57177 91>°w 127, what is the

difference between Nuw IRWw and Y which has no 27y signed on it; regarding which -
= D272V D209 NN NYIN 23997 (x99 1mpY) NN 7992 )INT

That we learnt in a /mw» in the last P99 that according to (Xin) RX'' this “ww

7Y 17V PR can collect from 2°7aywn av%ws: -
- 2990393 W91 MIOYA 19

And this means by n1auw RXw as '@ explained -

N1B0IN answers:
- 245519 9199 199RY 927 5 29091 1159 ©1Y 1YY PR SINYT 9129 U

And one can say that the case of a¥7¥ v PR is different from 77175 912°w 127

by nmvw xw, for since it is written on a 791 912° PRW 727 -
- 241510 995 150 927 DIV 195 1N BN DIV 0NN TOY BN 199991 BY1¥)

So the 77°0n >7v will always recognize the "vw which was transferred in their
presence, and if anything was forged, the forgery would be apparent.

nooIN asks:
= (N2 97 PYVITPT NP P92 NN NYTNHAT DYP 1Y 5an

However there is an additional difficulty (on X" the XMnX); for we explicitly
learnt in a Xns"92 in the first =9 of Pwy7TSP Noon -

= 1IN AN N SN 1Y AN MY 19 N9 1Y 0NN HY IN 99937 Y 19 AN
‘he wrote to him on a paper or a shard, ‘my field is sold to you, or my field is

given to you’ it is sold or given’; this concludes the xn»92 -
- 7999109 91950 927 MAVWA G 1IN %29 97U RNPYN

It is evident that (X1n) R''= is 7"ws» even by m=ww written on a 717% 9199 727 —

NIDDIN answers:
— 15899 DOTIPN MIOYA 991 531 RY MAIVWA HAN NN MNDT NNT 9019 YU

And one can say, that this which (X71X) X" states here, ‘but not by n1uw’, he

2 See 72w 11"7 2,3 *"wA (in the XK X1w*Y). Why is it that 57717 9127 is 9109 and 27y P99 X is 73 by mow Ixw?!
* The m» obviously cannot change anything in the original quw, since it is 7> 212> K. See following footnote # 24.
Mmoo may mean that if the M writes another 70w (see footnote # 21), the n"y will realize that it is a forgery for
it is not the same vw which they witnessed. However when it is written on a 771177 12w 127, the mM>n can make
certain (significant) changes which the »"y will not notice.

2 A o is a A™TraR Dovw 3.

%6 This ®n2 (seemingly) cannot be according to 1" for he requires 1"y, so it must follow X

%" This contradicts the view of (X17X) X" who maintains that X2 MA0Y IXWA 3K PL32 KK K" W KD!

*¥ Only a 7w which is needed for proof, like a loan document, is 2109 on a 47172 212" 727
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meant by n1uw which are needed for proof -
— NV 19 91 Pnyw 595 132 MDY UV NI 1910 VY Yax

However a bill of sale or a gift which is made for acquisition purposes for this
moment, these 7°1p *0W are like a @3, and are "w> even 771777 912°w 7272

nmoon offers an alternate view:
- 30‘1?)’52% 92499 N19°01 27¥a DID PRD GTINY DIDYY 927 122 PIYIN PPNT DIYI9)D U

And others maintain that according to (Xin) X', there is no difference
whether it was written on a 77 2% =27 or not 37177 99% if it was
transferred with ;79307 57V, it is always w2, even by M1uw IXW (even (R1MX) X' agrees to
this) -

— VY 593 INTI 99N MTYIN 229 913195 9919 TYIN 2249 9PN NY IWIT9 151 NN
And here in our X773, this is the explanation of what (X712X) X"9 stated; namely,
‘(X1n) R'' was not dwan, etc.’; meaning, (X7112X) X" meant to say, (Xin) R''9 is
certainly discussing all NY9UW that they are 7w even on a 7717 712w 927, since there are
n"y -

- Zmowa XYY PO KON PPN 19 K520 XY 199D YN XY
And when (XR12K) X" stated 2vwan7 8%, he meant that we do not agree with X"

(X1n), except by Pv3, but not by other nyauw -
=102 9TYIN 799 N9YN (3,00 pYy NINA 7992 29 999NT2

As 21 ruled in the last p25; ‘the 172957 is like (X1n) X' by 19w (that >3 2'") -
— Z2R1NA 1YY 19991 RTNA DPNND 1Y 920 29 MIVYA 4N 399X ATYIN 5297 NN Y9N

And the X7 explains there that (Xin) KX''% is discussing even ny LW XY,

however 29 agrees with X" in one case (°0°3), and argues with him in one case
(M) —

modoIn disagrees with these D°w1on W:
= (ow Nt o) NN 7992 1999 ATYIN 229 LPIT NIYIYI NIN VPINIY NYD NN 15 ONT NN PN)

And it does not seem correct to Moo, for if indeed it is so, the X2 should have
mentioned here the same syntax that (X712X) R''9 himself utilizes in the last P95,

» YpIp can be acquired through quwn n°on; this 1°1p can be accomplished even if the qvW is written on a 912°w 727
7»717%. However this quw cannot be used later as a proof of this 1°3p, since it is ™71 912

% According to the n" there is no question from 27y Y9y PXw W (see footnote # 21) and from 07MA %y an3 (see
footnote # 25), because according to the n'" the X" Xin maintains that it is always w5 whether it is 77172 2122 or X
o7y rhy.

3! The o*wom w° maintain that (x1) X" allows all mvw (including 7°X7 ") to be written on 7712 712w 12T
When (R77K) X"7 said 121 X" °wo1 X9, he meant (not that (Xin) X" differentiates between P and Mww KXW, but
rather) that we agree with (X1n) X" only by 1°°) (that one may write it on a 727172 912°w 127), but not by n1nww Rw.
2 The n"" state that (XM»X) X" is agreeing with 2.
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namely -
- PanN 123y NIN2 PN PRYNIY TNT D 331’\9’): TYIN 295 NOYN

‘the 7297 is like (X1n) X''= by w7 (only)’, since according to the »">, our X723
and the X772 in the last P75 are to be understood in the same context™ —

Another reason '01n disapproves of the n":
- 2N9MT ATYIN 5291 1IN 5397 17NN BNN SNNRY N9 MNT I

And additionally the X713 there should have cited the dispute between >''% and
(X7172R) R''M mentioned here —

One final question on the »":
— %39 D139 171197 1¥IY 239NN 9V 1IN 229N 7999 ININ TIY)

And furthermore; why does the X713 challenge >'', ‘but it is written 172y Jyn®

2%37 2°%%°, any more than it challenges (XMX) X" -
:INIOWY PV 12 199 XY RYIN 5397 111 179197 799515 195 MY RNYY S99y

This challenge should have been addressed to everyone, since all agree that
(%1n) R'" does not distinguish between 7°v3 and nyvw?!

Summary
All agree that 1°3p *0W can be written on a 77177 912°w 127. The »"> maintain that

according to (X1n) X"9 all MMLYW may be written on a 77172 212°W 127 while M»oIN
disagrees and maintains that (according to [X7KX] X"7) only 1Ip 7w can be
written on a 77112 912°% 127. Regarding "1 he either maintains that ;7°X7 70w are
valid even for a long time, or that they are valid only n7X>.

¥ The xm3 there states PL°32 YR 273 7977 27 K K" 4K P27 XNK °2; meaning that we only rule like X" by 1w,
According to the n" that the intent of X" here is the same as there, X"1 here should have said P2 8"13 17577 and
not "3 RPX R"1 1w K7 (which implies that X"1 himself differentiates between 1°v°x and MIVw “RW).

* Here we are discussing writing on a 7™717% 212w 127 and there we are discussing 27y 7%y PX, which is in the same
context. The question of M>doIN is that we see from there that when X" wants to say that even though the "3 Xin
maintains that it is always w3 (by a 27y Y9 PRW W), we only rule like him by "0, he states it clearly, R"13 7297
1023, so if (as the n'" say that) here too X"1 means to say the X"15 715777 only by >3, he should have used the same
syntax like there and not say "21 X"1 w577 X2 which indicates that the X"2 Rin differentiates between IR U
mnow.

% One cannot ask; according to '01n (who argues with the »"), why is it that here the X" xin differentiates between
nMuw XYY s (according to (X11MR) X"7), and there (X1n) X"7 does not differentiate, for mooIn already (see footnote
# 24) differentiated between 7°>711% 9129w 727 (where it is 9109) and 2°7v 1°9Y X which is wa.

3 Since according to the »" the argument between *" X" is whether the 712777 is like NM0w IXwa X", the X3 there
(when it cites the view of X"7) should have also cited the view of >"1 that the 7097 is like (Xin) X" even ML IRW2.
3" The n"> maintain that according to (XIn) X"7 one can write on a A»TY 7MW 727 even by NMLY XYW, the XM
should ask; how can this be since it is written 0°27 2’1 172Y° 1wn7 (the same question we now ask on >").
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Thinking it over

1. moon asks on >"w7d who explains the reason why n1vw Xw21 it cannot be
written on a 771177 212°w 127 because by time the W is presented, the n"y will
forget the details and we will depend on the a1°p of the 11"V, so we are not aware of
the possible changes made to the "vw. On this MdoIN asks, why would we depend
on the "y if it is a 97172 2127w 2n2.%® However on the previous mson 1 7"7 Ty
says that the reason why according to »n"9 one cannot write a YA on a 212°% 127
A»71719 because we depend on the n"v;”” why is that case different from ours.*

2. if we assume that >"1 allows MW XY on a A»7aY 219°w 727 only noxy,* s
there a difference between 71 *0w and 7°X7 0w?

3. Why did not '01n ask on the »"> (who say that X" rules that the 170%7 is like X"
only by 1v3), if indeed it is so, it turns out that both here and later the X na cites
X" that the 71977 is like X"9 only by v ; why was it necessary to state the same
ruling twice?! Additionally why here does he make this ruling on his own, and
later in the name of > 277!

* See footnote # 10.

% moon does not actually say this, however from Mo question there on >, it is apparent that this is what Mmoo
maintains. 2""y.

0 See X"wAn.

' See footnote # 19.

2 See footnote # 33.

3 See (wu»7>"mv) o7 T
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